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— DEF —

L

array origin[3];
array horizv[3], vertv[3];
array p[3];

— ORIENTATION —

origin = [0, 0, 0);

— orientation: [x.y.z] = [width, height, length]
—  thickness = height

— THERMODYNAMICAL 3% STEM CONSTRAINTS —
Q _in = total_solar_irradiance[solar_irradiance, collector_area] - Q_out;
m_dot_turbine = m_dot[water_conversion_rate, tube_dia) * recondensation_loss;

— DISK —

disk_thickness=1;

diskOD=sqri[1/[m_dot turbine*2*pi]] + vent_ratio;
disklD=sqri[1{[m_dot_turbine®*2*pi]] - vent_ratio;

v=x[2];

lim1= disk_thicknessfZ-y;

lim2= disk_thicknessf2+y:

cyl = hiCylinderY[x.origin,diskOD]);
disk = lim1 & lim2 & cyl;

— SHAFT -

shaft_ width = 2.0;
shaft_thickness = 0.5;
shaft_length = 6.0;

horizv = [ -shaft_width{2.0, -shaft_length{2.0, -shaft_thicknessf2.0];
verty = [ -shaft_thickness{2.0, -shaft_length{2.0, -shaft_width}Z2.0 ];
shaft = hfBlock[>. horizv, 2.0, 6.0, 0.5] | hiBlock[>. vertv,0.5,6.0.2.0);

—¥ENT PORTS -

—wvent diameter should maximize the space between the disklD and shaft width
—went ports should also be max outlet possible

margin = 0.1;
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<l-— Batteries -->
<gset Bl = <kattery V=<wvolt 1.5/=/=/>
<get BZ = <battery V=<volt 1.5/=/>/>

<l—— Resistors -->
<defolass resistorl parent=resistor E=<ohm 1/>/>
§ g <set R1 <resistorl/=/>
<get RZ2 <resistorl/=/>
<zet R3 <resistorl/=/>
<zet R4 <resistor E=<ohm 3/>/=/>

<l—— Wire nodes —-->

My <set nodel = =Zwire node "#wires"=L/>/>
<set node2 = <wire node "#wires"=4/>/>
<get noded = =Zwire node "#wires"=3/>/>

Zl-— Define connections —-->
<attach Bl.nodes.0 nodel.O/f>
<attach B2.nodes. 0 nodel.l/>
<attach Bl.nodes.0 nodel.Z2/ >
<attach B2.nodes.0 nodel.3/>
Zattach E3.nodes.0 nodel.d/>
<attach BEl.nodes.l nodeZ.0/>
<attach BE2.nodes.l node2.1/>
<attach BE3.nodes.l nodeZ.2/ >
Zattach Ed.nodes.0 node2.3/ >
Zattach EBd.nodes.l node3. .0/ >
<attach Bl.nodes.l node3.1/>
Zattach B2.nodes.l node3.2/ >
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<defclass resistor
vi equations=<wvector
"T1l.«<equals I2/>"
"Wa.«<sub V1/».<equals Il.<times R/=/>"/>
bounding box=<bounding box
center=<vecd O 0 O/>
gire=<vecd 2 1 0.5/=/>
nodes=<wvector
<node
bounding bkox=<bounding box
caenter=<vecd 0,25 0 O/>
sire=<wvecd 0.5 1 0.8/ >/>
wvariables=<vector W1 Il/>=/>
“nods
bounding box=<bounding box
center=<vecd Q.75 O O/
sire=<wecd 0. 1 0.5 /=/>
wvariables=<vector V2 I2/=/>/>
symbol=<polyline wertices=<vector
Crec? 0 Q> <vec? 0.8 O/> <vec? O0.75 1/ <wec? 1.25
Tyec? 2.8 0/ <vyee? 3 0/=)>
S

-1/ <wec?2 1.75 1/> <vec? 2.2H -1/>



